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Roots of the Cold War













Meeting the Soviet Challenge







Containing Soviet Expansion


	


_____ Satellite State _____

_____ Cold War_____

_____ Iron Curtain_____

_____ Truman Doctrine _____

_____ Containment _____

_____ Marshall Plan _____

_____ Berlin Airlift _____

_____ NATO _____

_____ Warsaw Pact ______


In February of 1945 __________ the President of the United States, ___________ the leader of the Soviet Union, and ___________ the leader of Britain met at Yalta when they knew the Germans were defeated.  
· The United States and Britain wanted a __________ Germany but the Soviet Union leader wanted a divided Germany.  
· Poland, Czech, Hungary, Romania, and Bulgaria became ___________ states with the Soviet Union.  
· Harry S. Truman who became the United States President at the end of World War II, he was convinced that the __________ had aspirations toward world domination which began the 46-year-long ____________.  





	There was a _____________ developing in Europe and east of it the ____________ were tightening their grip and trying to spread communism to other countries.  
· President Truman asked for money to help Turkey and Greece fight _______________.  It was known as the Truman Doctrine.



Another American policy was called ___________ which was to help nations resist communism.
· They used the Marshall plan which gave about _________ billion dollars in grants and loans to Western European nations, starting in 1948.





	



The Cold War Heats Up











































	
In June 1948, the leader of the Soviet Union decided to _________ all shipping from western Germany into West Berlin hoping that it would fall to communism.  The __________ and Britain stopped his plan by airlifting supplies, including food, fuel, and clothing, into West Berlin.
· The ____________ showed that communism could be contained.  
· To continue to block _____________, the NATO organization, formed in 1949.  
· In 1955, West Germany joined NATO.  In response, the Soviet Union and its satellite states formed the _____________.  
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